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(i) Write your Roll No. on the top immediately
on receipt of this question paper.
$H U9 B I B 9X I i u¥ ST
e Fax g |
(ii) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.
IH US-US H IOX A ar B i we
T €, dfeT a SuY v & W §
B9 =i |
(iii)Use of simple calculator is allowed.
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(iv) Show all workings clearly as part of the
answer. -

S% AT B I ATHEE q 9iEw

(v) Answer all questions. Including question
no 1 is compulsory.

T Ul B I¥ AT | geT TEar 1 it

gl
1. (a) Explain the ‘Matching Principle’. When the
revenue is said to be recognised ? 4

e (Matching) Risreg @0 i hiftm
HI ST A=Al U1l Har & 7 :

(b) What is meant by International Financial
Reporting Standards (IFRSs) ? Explain the

need for IFRSs. 5
ST fai @@ A5 (IFRSs) @ =
AYT B ? IFRSs @& SEITHaT FH aor
FHifoTT |

(c) Calculate the value of closing inventory, Cost
Of Goods Sold and Gross Profit according to
FIFO and Weighted Average Method on
March 31, 2017 : ‘ 6

Y B ST qe # o i, mr @
W@TWWWO%QWO@O
T=f 9T Fife o 31 A=, 2017 Fr ARG
ol g9 Ry o & -

March

=T

01 Stock in hand
'Y H WY

07 Purchases
gar

10 Sold
=

12 Sold
=

15 Purchased
gilfar

25 Sold
=T

30 Purchase returns

gig aadr
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500 units @ ¥ 10 per unit

500 Al @ 10 3 ufr s
7,500 units @ ¥ 12 per unit
7,500 gFEAr @ 12% S 3
6,000 units @ ¥ 15 per unit
6,000 AT @ 15 I Hf 315
1,200 units @ ¥ 18 per unit
1,200 Fhizal @ 18 T df s
5,000 units @ I 13 per units
5,000 sHEAl @ 13 X TRY 31
3,500 units @ ¥ 23 per unit
3,500 AT @ 23 T ufer s
500 units (out of goods

purchased on March 15)

500 gH=AT (15 =1E F @ ™
A § 9)

3 P
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2. You are required to prepare Trading and Profit
and Loss Account for the year ending March
a1, 2017 and Balance Sheet on that date from
the following Trial Balance after making the
necessary adjustments : 10

31 Ard, 2017 = @9 gQ a9 & fm arw-siy

g AR I R W o gew-ww e Rl W
qa9e q AT

Particulars Debit (3) Credit (%)

- fEETer Sfge Bfse
Stock (as on April 1,2016) 5,00,000
g (1 oia, 2016)
Purchases and Returns 30,00,000 50,000
eriiT oY arger
Sales and Sales Returns 60,000 42,00,000
Rt ol fal & aroeht |
Cash in hand S80.000 1L Rl
B H Hal
ST R i s TR SR 10,00,000
o

Rates and Taxes
T /e 3T F]
Drawings

HATELT

Salaries

o

Insurance

ElLi

Printing and Stationary
BUE oI
Advertisement
EElE]

Car

&L

Furniture

FHTET

Discounts

L

45,000

1,60,000

2,55,000

1,05,000

15,000

80,000

5,00,000

3,00,000

40,000

1201
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Carriage Inward 38000 4] T . (iii) Bad Debts worth I 40,000 to be written off.
o : =& g8 w9 40,000 % g ffae B
Wages 65,000 - 1 S (iv) Insurance prepaid is ¥ 25,000.
5 gda & ® 25,000 %
.
v) Provision for Bad debts is to be created at
Sundry Debtors/ 6,00,000  8,00,000 i '
! 5% of Sundry Debtors.
Creditors
<& g2 1A 1 e e 3Er & 5%
faf¥=1 =/ : 3
(vi) Depreciate Furniture by 10% p.a. and Motor
Total 61,10,000 61,10,000 Car by 20% p.a.
At Ry (frarae) EfeT T 10% sfREd o
Additional Information : et HIT T 20% HEd HCT B
srfeiea ge=md: OR |

(i) Closing Stock as on 31* March 2017 was A

% 1,45,000. You are presented with the following Receipts
and Payments Account for the year ending 31%
December 2016 :
31 R, 2016 af & o F mifer SR g
wrar Fr=fafaa Rar mr 2

T : P.T.O.

31 A€, 2017 @t e1f~a" €% 1,45,000 T =11

(ii) Salaries outstanding amounted to
< 15,000.

FHET T 23T 15,000 T |
6
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Receipts T Payments X
giftaar H{IATH
Balance b/d 20,000 Salaries 3,00,000
9 b/d aaq
Subscriptions Stationery 80,000
ST wd
2017 16,000 Telephone 12,000
B
2016 4,22,000 Rent 15,000
feprar
2015 8,000 4,46,000 Upkeep of 15,000
Lawn
SISECD
TGETE
Receipts from 50,000 Furniture 60,000
sports meet FHATET
2w & @
it ,
Interest on Balance c/d 54,000
investments 20,000
=T ax T c/d
=5
5,36,000 5,36,000

8

1201

The following additional information is

available :

o afaie gae fre ®

(b)

(c)

'(a) There are 450 members. The annual

subscription per member is ¥ 1,000. At the
beginning of 2016, ¥ 9,000 was in arrear for
2015.

T H e 450 T | At war ufa @Eey
1,000 T forar sam 81 2016 & 9ris & 2015
% fee g=rEr 9,000 T )

Stock of stationary (opening) was ¥ 3,500 and
closing was ¥ 5,000.

R 1 Wik (M) 3,500 ¥ 3fX gifers
5,000 T =1

At the end of 2016, rent for 3 months was
prepaid. (Monthly rent ¥1,000)

fptrar 2016 % g F 1,000 I g o |
(=fees Rexrar T 1,000 e )

9 P.1.0.
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(d) Expenses as on as on

were outstanding 31.12.2015 1.12.2016
=g A &

Salaries of staff 3,000 6,000
% F IJa

Telephone bills 1,000 1,800
el o

Upkeep oflawn 600 2,800

A B @@

(e) The buildings stood in the books at
¥ 20,00,000 and it is required to write off
depreciation at 5% p.a.

He 1 gEh F R @ 20,00,000 T b
T 9 5% foame afy af ser &

(f) Investments at 31.12.2016 were ¥ 4,00,000
carrying interest @ 6% p.a..
31.12.2016 = A=A & 4,00,000 7 of 39
W AT 6% Hfead o |

10
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You are required to prepare Income and
Expenditure Account for the year ending 31*
December, 2016 and a Balance Sheet on that
date. 10

SMIE STYeT ¥ 6 o ud =g @rar swgd ) 31
R, 2016 it ST o6 Ry 9T dge-u @
14 |

Geeta purchased 5 machines from X Ltd. On
1-1-2015 on hire purchase basis. Payment is
to be made ¥ 2,00,000 down and 4 equal half-
yearly instalments of ¥ 2,00,000 each together
with interest @10% p.a. She paid two
instalments on time but could not pay the
third instalment. The vendor took back
possession of two machines on her failure to
pay the instalment on time adjusting these
against the amount due. It was agreed to value
the two trucks at 30% less than cost. Geeta
charges depreciation @ 20% p.a. on
diminishing balance method and closes her
books on 31% December. Show the amount of
interest included in each instalment and
prepare Machine account and Hire Vendor
account in Geeta’s books up to year ending
December 31%, 2016. 10

11 258 Wi @
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Memr 5 AMF wrw Rio & 1-1-2015 =t fwrar
F9 9&5fd 9T @id yaE 2,00,000 T awher
AT 9 4 o1 afifes T 2,00,000 T =4 &%
gfeEd 10% &t 3T 9T o1 I ar & e & ol
Al 39 | orawe Ter | Rsbar & 79 amaw &
ot | 7E ot weAfa g T 6 mefe & e &
30% 7 rTd | e s sfer F RraEe 20%
gfted #t =X & Ted gU omER WX a9 fEar o
oy, 31 Ra=x # o @ar B 8¢ o Peeg §
i =t @ e Rard ok Ashe e
oo feuar Rebar @ @ far @ gt §
31 ﬁwerc 2016 & ¥ F 3IA dFH FAEY |

OR
HEqr

Amit sells goods on hire purchase at cost + 50%.

You are given the following information :

ﬂfﬁﬁ%ﬁﬂmmw&%%+50%ﬂqaw
Tl o R geem el ®

12
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Stock with customers on 1-1-2016 4 24,000
1-1-2016 H AEH B Y ©H
Instalments due, customers

¥ 3,000

paying on 1-1-2016
1-1-2016 =@ e St AEH A T fepar

Transactions during the year :

af F AT ARl

(i) Goods sold on Hire Purchase ¥ 1,80,000
Rerar 4 @ R A =

(iiy Cash collected ¥ 1,90,000
TG ST AT

(iii) Instalments that fell due ¥ 2,00,000
during the year
af & dr Reedt F P

13 \ P.T.O.
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goaeel & T TS s, il wm
One customer to whom one TV was sold for S PrferEd [ gqmer € T, It
¥ 6,000 to be paid in 10 equal instalments of ‘ 5 @rEr ST Qe Sl EiCIN]
¥ 600 each, paid 3 instalments on time but could e, A A -
not pay thereafter. On December 15, 2016 after 31 ey, 2016
the 6" instalment was due and defaulted, the ¢
TV was repossessed and valued at ¥ 3,500. Balances as on
Calculate .the profit of the Hire Vendor. Show January 1, 2016
your workings clearly. 10
T Aeh R So flo F 6,000 T F Far TAT 1 seadl, 2016 F HIW . 25.000
S¥ 10 e et # 600 3 27 o1 =g IE Branch Stock at Invoice Price
3 o Tua ux fRar 9wt Bewg T T e g W
15 e, 2016 & @& 6 feed a@wm@r &Y 3 g T A 85,000
FOT I fRaferar gt w7 Rar) fo o @t =2 Branch Debtors
e e/ 3,500 T 7 @ T
fRtraT =X F @ # TOMT BT | ST HrE A v Cash : :
BT AH-GET T B | Branc
qepal
4. Gupta & Sons, Delhi has a branch at X 2016
Bulandshahar. Goods are invoiced at cost plus Transactions during
25% which is the selling price of the branch. ! ar
From the following, prepare Branch Stock 2016 % & h 3,35,000
Account, Branch Debtors Account, Branch Goods invoiced to Branc
Cash Account and Branch Profit and Loss T
Account for the year ending 31% December, qan e T
2016. P.T.O.

15
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Goods returned by branch
to head office
SUT HET B qREr wwy
A #H At
Credit sales at branch
MG IR IR AT ferspr
Cash sales at branch
AET 9T T ﬁaﬁ-
Cash received from debtors
at branch
AET X 780 & mifey
Cash expenses at branch
AMET 9 g =g
Discount allowed to branch
debtors

AT A A & e

16

12,500

1,75,000

1,00,000

1,56,000

28,000

S00

A

Normal loss of stock at branch

ET 9T WIH W GHE BT

Balance as on 31st December, 2016 :

31 Ram=x, 2016 & & G & AW ¢
Branch stock
MET Ik

Branch Debtors

IrET AT

Branch cash

SITET el
OR
ALEr

1201

1,000

70,000

A Delhi firm has two branches — one at Agra
and the other at Meerut. The branches main-
tain their own books of accounts. For the year
ending December 31, 2016, the Agra Branch
showed debit balance of ¥ 31,450 and Meerut
Branch a debit balance of ¥ 51,000 before tak-
ing into account the following information :

17

10
) o i



1201 |
: 8 1201

wﬁﬁﬁwﬁaﬁﬁw&maﬂrﬁwﬁ

(d) ¥ 6,000 remitted by the Agra branch to H.O.

%lwm@%mwmmmﬁ%

31 Rem=r, 2016ﬁm§qa&ﬁwwsrr@7l

:E(%%z)ﬁgaq?sl,4soaﬁrﬁwm

ks (3fr=) wge 7 51,000 9 FEE gsar
Fre=fefaa g3 ot

(a) Goods valued at ¥ 3,000 were transferred

fi
.rom Agra Branch to Meerut Branch under
Instructions from H.Q.

b
(b) The Agra branch collected ¥ 3,500 from an
Agra customer of the H.0.

HIRT A& ' SIFRT 3 uep
SUHERT & gere
mfmama‘araﬁas,soot

(c) The Meerut branch paid ¥ 5,000 for good
purchased by H.0O. in Meerut ;

ﬁrasmmﬁw%wmaﬁmfaa%w
fﬁqs,om%wwwﬁww«

18

(e)

(f)

on December 29% 2016 were received on
January 3™ 2017 by H.O.
ST 9TET &1 U HEed @ 29 Ry,
2016 @ 6,000 T AT HX RA ™I 9T
3 SHadY, 2017 @ o< g2
Goods sent by H.O. to Meerut branch during
2016 were in transit on December 31, 2016
to the extent of ¥ 4,300. |
2016 3 AT TAH HEATE B AE HES
grEr & fem T s 31 fREER, 2016 T
4,300 Z ure & f@am TEm And
The Agra branch showed a net profit of
¥ 5,400 and Meerut branch a net loss of
? 2,600 for the year ending December 31,
2016. Write ﬁp the two branches accounts
in the H.O. books. ‘
STRTRT 9@ 1 Y& @9 5,400 T &7 SA A%
T B P ® 2,600 T, 31 feEerR, 2016
af 3 of a% o1 | HUT FrE@I B G H
Tt TRl # @R A |

19 P.T.Qu
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S. A B and i had th
? ¢ following Balance S B 20,000
on the date of dissolution : hi%t T :
W@’aﬁmw C 10,000 50,000
. To, Fio afix ‘ : :
W T e T 1 Frfarfa T
Liabilities : Pty : 1,15,000 1,15,000
I AR TRt Stock realised ¥ 10,000 and Fixed assets and
| Creditors 40.000 : debtors realised ¥ 45,000 in all. The expenses
| S ’ Fixed Assets 40,000 - of realisation amounted to ¥ 2,000.
i e SRINE ®iH ¥ a0 10,000 T 3% Rex aeaferdy aenm
4 E{-ﬁ(f)an Debtors 54 50k aFEl ¥ o< ¢ FHA 45,000 | aget @F A
| { ) Rerare 2000 |
|~ (secured on 15,009 Stock A cannot bring any further cash. B had
| stock) i 20,000 private assets of ¥ 8,000 and his private liabili-
/ ;' ( e ) ties amounted to T 6,000. C was able to pay
| Ry SRER) Cash 1000 only ¥ 4,200. The partners shared profits and
| - Tt ; losses in the ratio of 4:3:3 for A, B and C
Loan from A respectively. You are required to close the
1, ¢ , Profit & Loss 30,000 books of the firm by preparing the necessary
, i ~ Account ledger accounts.
apital
Pos i T AT Ay To Wt Tl A9 F oTaha @ ¥1 Ho H o
Vi i Grar 8,000 ¥ @ frsft @eaferar off 1 ok & & ot
| T T 3T 6,000 &1 W Baw 4,200 F 31 F wef
A 20,000 o7 | |IERE $ e @98l &l STgarT 4:3:3 &1
o AYY e ¥ % wH gE dw w1 ol emava®
grar S8 @i S |

20 21 P.T.O.
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’aﬁai"ﬁgWWW '

? T R I

;"%fﬁ STIIT 5:3:2 F o1 3q mwf?;r@; Fr
F WIAT 9 Fpey oy -

Liabilities 3 Asset
\b s
3gand geafrrgy ?
Credi
reditors 4,00,000 Fixed Assets 500 000
SELES Rt aeafarat
Reserve Fund 90,000 Debtors 2,40,00
Red sz SR e
Loan from X 50,000 Stock 2,00,000
TR F Hof T i
Capi 2
: pital a/c 3 Cash 1,00,000
ol @ - T |
A 2,00,000
<2

22
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B 2,00,000
q
C 1,00,000 5,00,000
q
10,40,000 10,40,000

The assets realised as follows :

Tt @ et age g8

First realisation R 3,85,000
oo e '

Second realisatién T 1,45,000
et argstt

Third Realisation T 3,00,000
el A

The realisation expenses were estimated to be
Z 32,000 but actual expenditure were T 30,000.
At the time of dissolution there was a contingent
liability of ¥ 30,000 against the firm which was
settled at ¥ 25,000 at the time of second
realisation. Distribute the cash as and when
realised in the safest manner. s [

23 P10
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agel % & H 32,000 T FH F@EGAT o7 TR
e =9 30,000 ¥ 4| UFH STRRHE  aFar
30,000 X &t &t o/ gadl ag@ell & §99 25,000 ¥
a9 BT &A1 AT | AR B Ay T A aGAr B |
ghfea #X 6 gifm ais § o« =8 a9 Tw5d)
1 faEer B

24 8400



